a0

al
a48
generate
(shape a47)
(\x0 —letx1 =Zin
let x2=(0.0,0.0) in
let x3=01n
let x4 =1 in
let x5=0.11n
let x6 =0.5 in
let x7=1.01n
let x8 =-0.5in
let x9 = shape a47 in
let x10 = a47!x0 in
let x11 = indexHead x9 in
let x12 = indexHead (indexTail x9) in
let x13 = max (x8
Jet x13 = fromIntegral x11
in min (x6 + x13,(fromIntegral (indexHead x0)) - ((x5 * x13) * (#1 x10)))) in
let x14 = max (x8
Jet x14 = fromIntegral x12
in min (x6 + x14,(fromIntegral (indexHead (indexTail x0))) - ((x5 * x14) * (#0 x10)))) in
let x15 = -1 + (truncate (x7 + x13)) in
let x16 = -1 + (truncate (x7 + x14)) in
let x17 = x13 - (fromlIntegral x15) in as
let x18 = x14 - (fromIntegral x16) in (0 == (shapeSize (shape a3)))

let x19 =x4 + x16 in
let x20 = x7 - x18 in
let x21 =
let x21 =x7 - x17 in
let x22 =
let x22 =
let x22 = ((x16 < x3) Il (x15 < x3) Il (x16 >=x12) Il (x15 >=x11)))) ? (x2,a47!x1 :. x16 :. x15)
in (x20 * (#1 x22),x20 * (#0 x22))
in let x23 =
let x23 = ((x19 < x3) Il (x15 < x3) I (x19 >=x12) Il (x15 >=x11)))) ? (x2,a47!x1 :. x19 :. x15)
in (x18 * (#1 x23) x18 * (#0 x23))
in ((#1 x22) + (#1 x23),(#0 x22) + (#0 x23))
in (x21 * (#1 x22) x21 * (#0 x22))
in let x22 =
let x22 =
let x22 = x4 + x15 in
let x23 =
let x23 = ((x16 < x3) Il ((x22 < x3) I (x16 >=x12) Il (x22 >=x11)))) ? (x2,a47!x1 :. x16 :. x22)
in (x20 * (#1 x23),x20 * (#0 x23))
in let x24 =
let x24 = ((x19 < x3) Il ((x22 < x3) I (x19 >=x12) I (x22 >=x11)))) ? (x2,a47'x1 :. x19 :. x22)
in (x18 * (#1 x24) x18 * (#0 x24))
in ((#1 x23) + (#1 x24),(#0 x23) + (#0 x24))
in (x17 * (#1 x22),x17 * (#0 x22))
in ((#1 x21) + (#1 x22),(#0 x21) + (#0 x22)))

T F

a49 a6
stencil stencil
(\x0 — negate (0.5 (\x0 — negate (0.5

% %k

(((et x1 =#1x0 adl ((Jet x1 =#1 x0 \
in (#1 (#0 x1)) - (#1 (#2 x1))) 4140 in (#1 (#0 x1)) - (#1 (#2 x1)))
+ — a + ; |
(#0 (#1 (#0 x0)))) — — (#0 (#1 (#0 x0))))

, ———— (#0 (#1 (42 x0))))) o // (#0 (1 (42 X0))))
= (Constant (0.0,0.0)) (Constant (0.0,0.0))
- a48 as
a) ag85 l l 042
stencil2 stencil2 stencil2 | stencil2

(\x0x1 —=0.25 (\x0x1 —=0.25 (\x0x1 —=0.25 (\x0x1 —=0.25
% %k % %
((let x2 = #1 x1 (et x2 = #1 x1 ((let x2 = #1 x1 ((let x2 = #1 x1 a2

in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) 00

+ + + + a
(#1 (#0 x1)))) (#1 (#0 x1)))) (#1 (#0 x1)))) (#1 (#0 x1))))

(Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0)

a49 a49 a6 a6

(Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0)

a49 a84 a20 a4l

as51 a86 a46
stencil2 stencil2 stencil2 stencil2
(\x0 x1 —=0.25 (\x0 x1 —=0.25 (\x0 x1 —=0.25 (\x0 x1 —=0.25
% S %k %
((let x2 = #1 x1 ((let x2 = #1 x1 ((letx2 =#1 x1 ((let x2 = #1 x1 a3
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ + + + #0 a2
(#1 (#0 x1)))) (#1 (#0 x1)))) (#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0)
a49 a49 a6 a6
(Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0)
as0 a85 al9 a45
a52 \ 4 agl a87 x al9 v T a44
stencil2 stencil2 stencil2 stencil2 stencil2
(\x0 x1 —=0.25 (\x0x1 —=0.25 (\x0 x1 —=0.25 (\x0x1 —=0.25 (\x0 x1 —=0.25
kS % % %k k
((let x2 = #1 x1 ((let x2 = #1 x1 ((let x2 = #1 x1 ((let x2 = #1 x1 ((let x2 = #1 x1 a38
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ + + + + permute (\x0 x1 — ((#1 x0) + (#1 x1),(#0 x0) + (#0 x1))) al (\xO — a4!x0) a3
(#1 (#0 x1)))) (#1 (#0 x1)))) (#1 (#0 x1)))) (#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0)
a49 a49 a49 a6 a6
(Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0)
as1 a80 a86 al8 a43
a53 / 2 l & al8 \ / f a39
stencil2 stencil2 A/ stencil2 stencil2 stencil2
(\x0x1 —=0.25 (\x0x1 —=0.25 (\x0x1 —=0.25 (\x0x1 —=0.25 (\x0 x1 —=0.25
k % k k *
(et x2 = #1 x1 (et x2 = #1 x1 (et x2 = #1 x1 (et x2 = #1 x1 (et x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ + + + +
(#1 (#0 x1)))) (#1 (#0 x1)))) (#1 (#0 x1)))) (#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0)
a49 a49 a49 a6 a6
(Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0)
a52 a81 a87 al7 a38
a54 / \1 a89 & al7 i T
stencil2 stencil2 stencil2 stencil2
(\x0x1 —=0.25 (\x0x1 —=0.25 (\x0x1 —=0.25 (\x0x1 —=0.25
* * * *
((let x2 = #1 x1 ((let x2 = #1 x1 ((let x2 = #1 x1 ((Tlet x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ + + + #1 a2
(#1 (#0 x1)))) (#1 (#0 x1)))) (#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0)
a49 a49 a49 a6
(Constant 0.0) (Constant 0.0) (Constant 0.0) (Constant 0.0)
as3 ag2 / a88 al6
as5 l l / al6 \ z f
stencil2 stencil2 stencil2
(\x0x1—=0.25 (\x0x1 —=0.25 (\x0x1 —=0.25
* k %k
((let x2 = #1 x1 ((Jet x2 = #1 x1 ((et x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ + +
(#1 (#0 x1)))) (#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0) (Constant 0.0)
a49 a49 a6
(Constant 0.0) (Constant 0.0) (Constant 0.0)
a54 a83 al5s
a56 l al5 l T
stencil2 stencil2
(\x0x1—=0.25 (\x0x1 —=0.25
* %k
((let x2 = #1 x1 (et x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ +
(#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0)
a49 a6
(Constant 0.0) (Constant 0.0)
as5 al4
a57 / al4 //
stencil2 stencil2
(\x0x1 —=0.25 (\x0x1 —=0.25
%k 3k
((et x2 = #1 x1 ((let x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ +
(#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0)
a49 a6
(Constant 0.0) (Constant 0.0)
a56 al3
as8 J al3 //
stencil2 stencil2
(\x0 x1 —=0.25 (\x0 x1 —=0.25
% %k
((let x2 = #1 x1 ((et x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ +
(#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0)
a49 a6
(Constant 0.0) (Constant 0.0)
as7 al2
a59 / al2 \ //
stencil2 stencil2
(\x0 x1 —=0.25 (\x0 x1 —=0.25
S %
((let x2 = #1 x1 ((let x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ +
(#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0)
a49 a6
(Constant 0.0) (Constant 0.0)
a58 all
a60 l all \ //
stencil2 stencil2
(\x0 x1 —=0.25 (\x0 x1 —=0.25
k S
((et x2 = #1 x1 ((et x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ +
(#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0)
a49 a6
(Constant 0.0) (Constant 0.0)
as9 alo
a6l l alo //
stencil2 stencil2
(\x0 x1 —=0.25 (\x0 x1 —=0.25
* k
((let x2 = #1 x1 ((Tlet x2 = #1 x1
in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ +
(#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0)
a49 a6
(Constant 0.0) (Constant 0.0)
a60 a9
a62 / a9 \ J f
stencil2 stencil2
(\x0x1 —=0.25 (\x0x1 —=0.25
% k
((let x2 = #1 x1 ((let x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ +
(#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0)
a49 a6
(Constant 0.0) (Constant 0.0)
a6l a8
a63 / a8 l T
stencil2 stencil2
(\x0x1 —=0.25 (\x0x1 —=0.25
k k
((let x2 = #1 x1 ((let x2 = #1 x1
in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ +
(#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0)
a49 a6
(Constant 0.0) (Constant 0.0)
a62 a7
a64 l a7 ‘
stencil2 stencil2
(\x0 x1 —0.25 (\x0x1 —0.25
%k %k
(et x2 = #1 x1 (et x2 = #1 x1
in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+ +
(#1 (#0 x1)))) (#1 (#0 x1))))
(Constant 0.0) (Constant 0.0)
a49 a6
(Constant 0.0) (Constant 0.0)
a63 a6
a90 \
stencil2
stencil2 (\x0 x1 — let x2 = #1 (#1 x0) in
let x3 =
(\x0 x1 —>*0.25 letx3=0.5
((let x2 = #1 x1 in (x3
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2)) (let ;g —# Xlz
in (#0 x4) - (#2 x4))
(Constant 6#01) (#0 x1)) X3 E (L (0 xD) - (#1 (#2 x1))))
249 ’ in ((#1 x2) - (#1 x3),(#0 x2) - (#0 x3)))
(Constant 0.0) (Sgnstant (0.0,0.0)
a
a64 (Constant 0.0)
a89
a66
stencil2
(\x0x1 —=0.25
%k
((et x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a65
a67 x
stencil2
(\x0 x1 —=0.25
S
((Jet x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a66
a68 x
stencil2
(\x0x1 —=0.25
%
(et x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a6b7
a69 &
stencil2
(\x0x1 —=0.25
%
((let x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a68
a70 X
stencil2
(\x0x1 —=0.25
3k
((let x2 = #1 x1
in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a69
a7l &
stencil2

(%0 x1 — 025
%k

(et x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))

+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a70
a72 &
stencil2
(\x0 x1 —0.25
%k
((et x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a7l
a73 x
stencil2
(\x0 x1 —=0.25
3k

((let x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a72

a74 x

stencil2
(\x0x1 —=0.25
*

((let x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a73

a75 &

stencil2
(\x0 x1 = 0.25
*k

((et x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))

+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a74
a76 x
stencil2
(\x0 x1 = 0.25
3k
((let x2 = #1 x1
in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a75
\\
\\
gl
stencil2
(\x0 x1 = 0.25
%k
((let x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a76

a78 \

stencil2
(\x0 x1 —=0.25
*
((let x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a77
a79 l
stencil2

(&0 x1 — 025
ES

((let x2 = #1 x1
in (((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a78

a80 /

stencil2
(\x0 x1 —=0.25
*

((let x2 = #1 x1
in ((#1 (#1 x0)) + (#2 x2)) + (#1 (#2 x1))) + (#0 x2))
+
(#1 (#0 x1))))
(Constant 0.0)
a49
(Constant 0.0)
a79

YVvy /

(generate
(shape a90)
(\x0 —=letxl =1in

let x2=0.1in

let x3=0.51in

letx4=1.01n

letx5=Zin

let x6 =0.0 in

let x7=01in

let x8 =-0.5in

let x9 = shape a90 in

let x10 = a90!x0 in

let x11 = indexHead x9 in

let x12 = indexHead (indexTail x9) in

let x13 = max (x8
Jet x13 = fromIntegral x11
in min (x3 + x13,(fromIntegral (indexHead x0)) - ((x2 * x13) * (#1 x10)))) in

let x14 = max (x8
Jet x14 = fromIntegral x12
in min (x3 + x14,(fromIntegral (indexHead (indexTail x0))) - ((x2 * x14) * (#0 x10)))) in

let x15 =-1 + (truncate (x4 + x13)) in

let x16 = -1 + (truncate (x4 + x14)) in

let x17 = x13 - (fromIntegral x15) in

let x18 =x1 + x16in

let x19 = x14 - (fromIntegral x16) in

let x20 = x4 - x19

in ((x4 - x17)

k

((x20 * (((x16 < x7) 1 (x15 < x7) I (x16 >=x12) Il (x15 >=x11)))) ? (x6,a95!x5 :. x16 :. x15)))
+
(x19 * (((x18 < x7) I (x15 < x7) Il (x18 >= x12) Il (x15 >= x11)))) ? (x6,a95!X5 :. x18 :. x15)))))
+
(x17
k

(et x21 = x1 +x15
in (x20 * (((x16 < x7) I (x21 < x7) 11 (x16 >=x12) Il (x21 >=x11)))) ? (x6,a95!x5 :. x16 :. x21)))

+
(x19 * (x18 < x7) I (x21 < x7) | (x18 >= x12) Il (x21 >= x11)))) ? (x6,295!x5 :. x18 :. x21))))))

,a90)




